Тест для 1 курса.
Вставьте вместо пропусков подходящие по смыслу местоимения в нужной форме.
1. Elisabeth really loves … garden. … used to work there every day. –
 Элизабет действительно любит свой сад. Она привыкла там работать каждый день.
2. Harry is sure that the bag belongs to … cousin. … saw … in … hands. – Гарри уверен, что эта сумка принадлежит его двоюродной сестре. Он видел ее (сумку) в ее руках.
Выберите правильный вариант ответа.

3.There are companies which need a lot of money to set up but much ……..

money to run.

                a) little                       b) less

4.An increase in demand can make a company push its prices even ………

than necessary.

                 a) higher                   b) the highest
5.All transactions are to be ____________ in the general journal.

a) recording              b) recorded

6.There is an  ____________ number of private investors. 

a) increasing             b) increased

7. Staff are  ________ to work flextime.

a) allowing                b) allowed
8.  We have  ……..  time at our disposal. We must  make a decision right away.

    a) little               b) much          c) many   
9.  ………..  insurance companies protect their customers against risk.

          a) A little               b) Many             c) Much  
10.  Those promises were made the company …. 2003.

     a) in              b) at                    c) till

11.  Russia and Japan plan to increase cooperation in the energy sector …. 2008.

     a) in              b) on                   c) for
Раскройте скобки, используя пассивный залог.
 12. The telegram (receive) tomorrow. 

 13. I (give) a very interesting book last week. 

 14. He always (laugh).
Напишите следующие слова во множественном числе:

boy, lady, woman, box, bench, sheep, mouse, peace, luggage, music, coffee, life, city, child, foot, money, bush. 
